Text 8.

Balance Sheet as a Lens on Growth

Текст взят из Barker, R. Short Introduction to Accounting / R. Barker. – Cambridge : Cambridge Univ. Press, 2011. – 215 p.
I

Table 7(Balance sheets for the nine companies) presents balance sheets for each of the nine companies discussed above. Table 7 (Balance sheets for the nine companies)first reports an opening balance sheet that is common to all companies, and then it updates this balance sheet for each of the cash flow statements from Table 5 (it is assumed that there are no other transactions other than these cash flows).

	
	Opening

     $k
	A

$k
	B

$k
	C

$k
	D

$k
	E

$k
	F

$k
	G

$k
	H

$k
	I

$k

	Fixed assets
	100
	110
	100
	90
	110
	110
	110
	100
	90
	100

	Accounts receivable    –10
	40
	40
	40
	40
	40
	40
	40
	40
	40
	40

	Cash
	30
	30
	30
	30
	30
	30
	30
	30
	30
	30

	Total assets
	170
	180
	170
	160
	180
	180
	170
	160
	160
	170

	Bank loan
	45
	45
	35
	25
	55
	65
	55
	45
	35
	45

	Accounts payable
	5
	5
	5
	5
	5
	5
	5
	5
	5
	5

	Total liabilities
	50
	50
	40
	30
	60
	70
	60
	50
	40
	50

	Equities 
	120
	130
	130
	130
	120
	110
	110
	110
	120
	120


Table 7. – Balance sheets for the nine companies

Before looking in detail at Table 7, you should have a go at preparing it for yourself. Taking the opening balance sheet from Table 7 and the cash flows from Table 7, create closing balance sheets for each of the nine companies, and then compare your answers with those in Table 7. For information, it is assumed in Table 7 that the financing cash flows affect the size of the bank loan and do not have any effect on equity.

It is obvious from looking at the balance sheets which companies have grown their total assets and which have not. Moreover, you will have noticed that the increase in total assets is determined by the level of investing cash flow. This is because there was no net change in inventory, accounts receivable or cash, and increases in fixed assets arise from capital expenditure (i.e. investing cash flow). Companies A, D and E each invested $10k and total assets grew by $10k, while Companies B, F and I did not invest, and Companies C, G and H disposed of assets.

Total liabilities, meanwhile, increased by an amount equal to financing cash flow. This is because there was no net change in accounts payable, and increases in the bank loan arise from new borrowing (i.e. financing cash flow). Companies D, E and F each borrowed during the reporting period, while Companies B, C and H each paid down part of their outstanding bank loan.

The final category on the balance sheet, equity, increased by an amount equal to the operating cash flow. If the financing cash flows had been between the company and its shareholders as opposed to being between the company and its bank, then these would also have affected the equity balance. If there had been accruals in addition to operating cash flows, for example if there had been an increase in accounts receivable resulting from sales made on credit, then this, too, would have affected the equity balance. In this simple example, however, the only double entry to affect equity results from operating cash flow which changes the cash and equity accounts on the balance sheet. In other words, profit is equal to operating cash flow in this example.

II

So far, so good, but what happens if we introduce some additional real-world complexity to the example? Specifically, what happens if the fixed assets depreciate? And what happens if there are changes in working capital, caused by a change in accounts receivable, or accounts payable? How would each of these affect growth?

Suppose that the fixed asset depreciates by $7k during the reporting period. This has no effect on the cash flow statement but for all companies profit will now be $7k less than operating cash flow and the book value of fixed assets will also be lower by $7k. The growth in assets is now equal to the value of capital expenditure (investing cash flow) less the amount of depreciation. In other words, each company is required to undertake capital expenditure in order simply to maintain the productive capacity of the business, and only further expenditure above this level will enable the business to grow. With the introduction of depreciation, only three of our nine companies (A, D and E) will now have grown during the reporting period, and even then only by an increase in assets of $3k, while the total assets of all other companies will have reduced.

The ratio of capital expenditure to depreciation can be used as an indicator of growth. If the ratio exceeds one, the company is making sufficient investment in the business to enable fixed assets to grow. If the ratio falls short of one, on the other hand, then the level of investment in new assets is insufficient to keep up with the depreciation of existing assets.

While depreciation does not itself involve cash flow, it does have cash implications for a company. If assets depreciate, and if the company wishes to replace them in order to maintain productive capacity, then it must increase investing cash outflows, which in turn implies that it must find cash from somewhere, either by reinvesting a greater amount of its operating cash flow, by using its existing cash balance or by increasing financing cash inflows. Among our nine companies, none of A, D, E, F, G, H or I is able to increase investing cash outflows from operating cash flow generated during the period, either because all of the operating cash flow is already being reinvested (Company A) or because positive operating cash flow is not being generated in the first place. In all of these cases, an increase in investing cash flow would require either a financing cash inflow or the use of some of the cash that is sitting on the company’s balance sheet. In contrast, Companies B and C have both generated positive operating cash flow but they have not reinvested this in the business, and so for these companies there remains the possibility of the internally generated funding of capital expenditure.

Now suppose that, in addition to depreciation, there is also an increase in accounts receivable and accounts payable. What effect do these increases have on growth?

An increase in accounts receivable implies that income has been recognised in the income statement but cash has not yet been received. For each of our nine companies, operating cash flow therefore understates trading performance, because the gains from trade are in part captured by the increase in accounts receivable. In contrast, an increase in accounts payable can be viewed as the opposite of an increase in accounts receivable. An increase in accounts payable implies the recognition of expenses in the income statement which have not yet been paid for, meaning that the outflows captured in operating cash flow understate the expenses incurred by the business.

If we suppose that the increase in accounts receivable for each company was $9k and the increase in accounts payable was $3k, and if we also account for the depreciation of $7k, then how would the balance sheets for each of the companies differ from those in Table 7? The answer is given in Table 8 (Balance sheets with depreciation and increase in accounts receivable), but before looking at this you should have a go at preparing the answer for yourself, by taking the balance sheet for each of the companies and updating them for the double entries involving depreciation, accounts receivable and accounts payable.

	
	Opening

     $k
	A

 $k
	B

$k
	C

$k
	D

$k
	E

$k
	F

$k
	G

$k
	H

$k
	I

$k

	Fixed assets
	100
	103
	93
	83
	103
	103
	93
	83
	83
	93

	Accounts receivable    –10
	40
	49
	49
	49
	49
	49
	49
	49
	49
	49

	Cash
	30
	30
	30
	30
	30
	30
	30
	30
	30
	30

	Total assets
	170
	182
	172
	162
	182
	120
	172
	162
	162
	172

	Bank loan
	45
	45
	35
	25
	55
	65
	55
	45
	35
	45

	Accounts payable
	5
	8
	8
	8
	8
	8
	8
	8
	8
	8

	Total liabilities
	50
	53
	43
	33
	63
	73
	63
	53
	43
	53

	Equities 
	120
	129
	129
	129
	119
	109
	109
	109
	109
	109


Table 8. – Balance sheets with depreciation and increase in accounts receivable

Take a look at Table 8 (Balance sheets with depreciation and increase in accounts receivable), compare it with your own answer and make sure that you can follow how the discussion above corresponds to each balance sheet, in terms of the effects of depreciation, accounts receivable and accounts payable in making the data in Table 8 different from those in Table 7.
